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INSTRUCTIONS

This question paper should be opened only after receiving the instruction from the examination hall invigilator.

This question paper contains 80 questions in Part A (General Knowledge) and 60 questions in Part B (Psychology).
Answerall the questions.

Each correct answer has half mark.

Write the Enrolment No. and Sl. No. of the OMR answer sheet at the appropriate place in the front page of the question paper.

The type of question booklet series and the correct answers to the questions (A, B, C or D) should be shaded in the relevant circles
using blue or black ball point pen. The answer sheet without shading the type of question booklet series will not be evaluated.

For each question only one answer is to be chosen and shaded.
For wreng, multiple and improper shading in answer sheets, no marks will be given for that answer,

If there is any printing error, or error in Page No. in the question paper, the same should be brought to the notice of the invigilator
immediately and a new question paper should be obtained before the commencement of written examination.

All the questions are bilingual except language questions (English & Tamil).
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PART - A : General Knowledge

1. Who is Greta Thunberg ? :
(A) A Scientist (B) A Holywood Actor
(C) A Tennis Player (D) An Environmental Activist for Climate Change
KCyL i Qs srestLIouT wmr ?
(A) @ aflesesre
(B) ew apmedley” piysir
(©) @@ C_eraflev afgr

(D) ew uGuBlo® LIPDSEHSTT FOPFGLPD 2y i
2. Whatis INS VIRAAT? 283

(A) Submarine ‘ (B) Warship
(C) Aircraft Carrier (D) Missile
&. 6T6bT. G1e. QNI GIGIDTE) 6TGHTET ?
(A) Bt eapp® sLiLIGY (B) Gumig siiueh
(C) aflwrend smmi%) 6w (D) eraysenesr
3. Match the following :
(a) Ponniyin Selvan (i) Seethalai Sathanar
(b) Manimegalai (i) C. S. Lakshmi
(c) Kuyil Paatu (1ii) Kalki
(d) Sivappu Kazhuthudan Oru Pachai Paravai (iv) Subramanya Bharathi
(A) (i), (1), (iv), (i1) (B) (i), (1), (i), (iv)
(C) (@), (i), (iv), (iii) (D) (), (i), (ii), (iv)
Cunmsgis
(a) Glumeiredlufetr Glaavauesr () 33w gnggemmi
(b) wewGosenaev (ii) C.S. awayuLh
(c) @ulled L3 (iii) &G
(d) &oui'iy supsgi o e LFws upame (V) FUgweslu LTS
(A) (i), (), (iv), (i) (B) (i), (i), (iii), (iv)
(€) @, (ii), (iv), (iii) (D) (), (iii), (i), (iv)
4. Who is the President of Ukraine ? ;I :EI '
(A) Volodymyr Zelenskyy - (B) Vladimir Putin
(C) Boris Yelstin (D) Denys Shmyhal
2 senpailehr Gy wg%d senevant wmr 9
(A) Geunevrg.18i QFeveirav) (B) eflevmig 1B Lyg.air

(C) Gunfev erevenie.cir (D) Gl_aresflav Swmbammed
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As on 31% Jan. 2022 which State has installed highest overall renewable energy capacity in India ?

(A) Karnataka (B) Gujarat

(C) Maharashtra (D) Tamil Nadu

31 gewaurf 2022 6ir Haveugliuig, e16s Bl s Clarererere) G GlsmanmL
UsI555555 afesd oupped Bnjauliu’ L S (pseil b uGs&ng ?

(A) siBrL_&1b (B) vgurs ESE

(C) wsmgmeipg gib (D) sblppre =

Laughing is good for health, because it reduces the secretion of stress hormone secreted
by and makes us to relax.

(A) Adrenal gland (B) Thyroid gland  (C) Gastric gland (D) Thymus gland
PRIy 2L gusE pog gareley FMy, sesiiy apmiGionemst

 sussm G®PdG Fetenin @uicv Blenws Glera(h auBSISIDSI.

10.

(A) 2 _Mesred Fgid (B) ewgomi® %ol
(C) &Grewr &1l (D) ewsioev &y
A sudden change in the genetic material of an organism is called
(A) Hybridization (B) Natural Selection
(C) Mutation (D) Mass Selection
i 2 Wflers@er wiyriCurmeis Sieblger gpu@BLL LLADDLD GTGST)
I LpSESLILIBH B
(A) sl B) @uipess Gaiey
(©) 4GB wmppib (D) s’ B Gaiiay
. In which of the following plant food is stored in stem ?
(A) Beetroot (B) Carrot (C) Potato (D) Radish
LI65Tau(BeuasToIDMIGT TSSTaITLD Sag.ev 2 awTanal CsilE&GaTng ?
(A) LT emi (B) Gsir_
(C) 2 (pemens&)pEiE (D) @peiransi&) %
Choose the correct pair. : } '
(A) Vitamin A — Rickets (B) Vitamin D — Xerophthalmia
(C) Vitamin B, — Beriberi (D) Vitamin B, — Scurvy
siwner @Qevewreow Csinh0ls®
(A) eaur’ L thleir A — M&06lsL aiv (B) emeur”_tfletr D — E@uniigmevibluim
(C) emeur’_tfleir B — QMG (D) emeu’L_1hleir B, - avaiall
ELISA testand WESTERN BLOT test are used to detect disease.
(A) Typhoid (B) AIDS (C) Polio - (D) Cholera
erellem Gengenes wpmib Glevav L e L9erm. Gangenas Gmmir LTy
s Pl LGS HEDS).
(A) emi_oSLimii(y (B) erii’av

(C) @embiferemen aungLb (D) @smevgr

A



11.

12,

13.

14.

15.

16.

Which is wrongly matched ?

(A) Igneous Rock — Lime Stone (B) Intrusive Igneous Rock — Sill
(C) Sedimentary Rock — Sandstone (D) Metamorphic Rock — Diamond
Qaupsled 6181 saupns CuimwppSujsireng 2 .

(A) Buunesp — FevsemiibL) LTedD (B) ser(pmyedis Sriimeom — Hab

(©) ugayiumedp — wesiHLITED (D) 2. @onw umenp — enaugib
Mangrove Forest is located in district.

(A) Cuddalore (B) Coimbatore (C) Dharmapuri (D) Salem

FgIU BlevdsmBser AL LGBV 6o LofSI6TorTS). EE
(A) sgpri (B) Csmuwbggni (C) sy (D) Gsevibd ﬁ%

Consider the following statements and answer the right option from the given.
Assertion : Braindrain is related to educationally specific selective migration.
Statement (A) : Unemployment and under employment are the reasons for Braindrain.
Statement (B) : Country of origin is gaining potential leaders and talent.
(A) Statements (A) and (B) are wrong (B) Statement (A) true, (B) wrong
(C) Statement (A) wrong, (B) true (D) Statements (A) and (B) are true
Aeireu@pLd ursSwnisemen spsSa Csnan® Csr@ssiur Herereupmyer Fumear
ursGwgeans Csik6ls®).
Fapml - HPley LeClLwiFs areiiug CsinOls@ssUul L sdall Fmi

QL 1QLwrGeun(® CFm_iiLjenL_ wsnEiLb.
auns&wib (A) : Sjpley e IGLIWLIIEREE Gauamaeuniiifsteni pmiLb F5555CspL
Geavenevuileiren oG sagesib 2L, (&LD.
aung@uwin (B) : ppspi® e1@ismew saeaiiseaen b, Bewsnadlsaenyb ClLm@ng.
(A) eund&lwib (A) wpmid (B) seumy (B) eung@uib (A) sM (B) sauny

(©) aung&uwib (A) seuny, (B) &M (D) eung&&uid (A) wpmib (B) &
Which country is the largest produce of platinum in the world ?

(A) India (B) Russia (C) China (D) South Africa
Serm g arib 2 pLSFuled 2 wHGewCu As QLA sr® ey 2

(A) @pbBwn (B) gewuwir (C) Zeorr (D) Gseir o1 9Msesm
Drilling of oil wells is the hole drilled in the layer of the Earth. ELAE
(A) crust (B) mantle (C) inner core (D) outer core B
Lyail Slearuill” () c1eTolenTiis Flewmisen &S ILIFSIDET ?

(A) CuGeavm’iged (B) seussgSev (C) 2.6r s@pailed (D) Gleual s@palad
Find out the wrong pair.

(A) Mangal Pandey — Barrackpur (B) Rani Lakshmi Bai — Jhansi

(C) Velunachiyar — Sivagangai (D) Kattabomman — Nerkattum Sevel
SUDTET (Q)enerTeniLs H6osTL 1%,

(A) msdureaCGL — LmgdLyi (B) prewfleo” gbluimis — gopnein®)

(C) Couguprd@uni — Seuspiens (D) a1 Glumbioeit — QBpsL Hid GFeueh
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17. Who discovered the direct sea route to India from Europe ?

(A) Columbus (B) Megallen

(C) Vasco da Gamma (D) Marco-polo

@CGomiunalelwigs @QBBwralne@ Cooy s afleow sar®lilydsant wri ?
(A) GsmevibLiav (B) Qusevevsir

(C) aurevGsmL_smom (D) wmiGsr GunGeur

18. Who emphasized the unity of Hindu-Muslim ? :
(A) Ramanuja (B) Adi Shankara  (C) Kabir (D) Meera Bai

@B, (Lpavebid gpmieLOW S DISSwet wit ?
(A) @omoayysgit  (B) @ smspi  (C) sl (D) Bym mds

19. Who was the outstanding leader of Palestine Liberation Organisation (PLO) which was
formed in 1964 ?

(A) Yassar Arafat o (B) Robert Schuman ON0)
(C) Konrad (D) President Nasser el
1964 6b 2_Foumds i L unweavSear alBsame QUISSSHGHT LOSSSTET ST W ?
(A) wnsir oL (B) pmuiit’. em9ipest
(C) Glsmestym (D) @i prF
20. Who founded the Adi Dravida Mahajana Sabha in 1893 ?
(A) Rettamalai Srinivasan (B) Swamynathar
(C) T. S. S. Rajan (D) V. S. Srinivasasastri
1893 &b BB omellL_ Lo&MRQET FenLl GTHIEHILD JeILDLIGHLI & (HeUTSG Wi Wi ?
(A) Gy emi_toewev Favflameeir (B) seumblpngi
(C) T. S. S. gnggesr (D) V.S. ufaflauns smevsif

21. Assertion (A): The President is the Supreme Commander of the Armed forces of India.
Reason (R) : The President is the head of the State and occupies the highest position.

(A) ‘A’ is correct and ‘R’ explains ‘A’ (B) ‘A’ is correct and ‘R’ does not explain ‘A’
(C) ‘A’ is correct and ‘R’ is wrong (D) Both ‘A’ and ‘R’ are wrong
FaDmI . BUWTES ST QBB JQUSLILIGHL BTG SO SOTLIS @i

SAIEHILD  (GLYWTSHS ST BT 196 SeaUITHa LD D% 2 Wibs ugall
Blevaveuwintb euREE .
(A) spry &M, STIeHTLD FoHIISBTES FAlWTeT aNeNSSLONEG LD
(B) spmy &, sngeniib smpmissEnaT FAwTeT alerssLoe6 ]El%%
(C) ®ppy i, SMgewrd Heumy =
(D) epmy, sngewib @)oesT(hid Seum
22. Who introduced the Local Self Government to India in 1882 ?
(A) Lord Curzon  (B) Lord Wellesly ~ (C) Lord Rippon (D) Lord Hasting
o Gl & el jsenen 1882 v @pSlwnalled yPlpsLiLi@SHwet wr ?
(A) srigeir gy - (B) GlausvGlevavad] Ly
(C) M gy (D) Gamevigmien 91y
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23.

24.

250

26.

27.

28.

29.

& A

Where is the headquarters of BRICS Organisation located ?

(A) China (B) Brazil (C) Russia (D) South Africa
Lilféev gemLoLi et senevemiouiasLb I ZYGOLOBSIGTENG| ?

(A) & (B) 19GzSsv (C) papwr (D) Qgesrenmindfssm

The disputes between Central Government and the State Governments are adjudicated by
(A) Parliament (B) High Court (C) President (D) Supreme Court

LogBw-1omblev sypenmIsRSeaT @) _ullevrer Hassemar 8138 aneud@Lb yeLoLiL] 618 ?

(A) pr_mepepib (B) 2 wip@oesimib

©) GYywiss semevalr (D) 2 ésh8wepib EYE
Which of the following State have a common High Court ? (=l
(A) Tamil Nadu and Andhra Pradesh (B) Kerala and Telangana

(C) Punjab and Haryana (D) Maharashtra and Gujarat

Epssnamid e1bg wrhlevrisdr ClLngieunas s wiBs wepgens Clupmicrerss 9
(A) spsn® womib ST Cssib (B) Csgert Loppith C\s@ymismestm

(©) wEsens woHmid emRwirest (D) wsmgnaug om wpmh Gggons
Which Indian has won Nobel Prize in Economics ?

(A) Kailash Satyarthi (B) Mother Teresa

(C) S. Chandra Sekhar (D) Abhijit Banerjee
Clunmenngmig@ed Grrue Lfs Ceustn @)BSwi

(A) vsnay sswI55) (B) yarenasr Qsosm

(©) erow. 5687 Gosii (D) <1985 Guesigl

Which of the following is a direct tax ?
(A) Excise duty (B) Customs duty  (C) Incometax (D) Service tax
Speumerareupmier 6151 Criwps auf 2

(A) sevmrad euf (B) @#mis eurf (©) eu@pLomes eufl (D) Graweu eu
Which district in Tamil Nadu has the highest sex ratio as per 2011 census ?

(A) The Nilgiris (B) Nagapattinam

(C) Thiruchirapalli (D) Thanjavur

2011 sawsClsQLdeTuy, SWOPHI 96T 6B Il LS LmeSer EVEAETH)
BSOS 2_aTeTg)

(A) faw@ (B) prsliuc genrid

(C) BwéPuniiueref (D) sesamayir

I) Nationalisation of banks was effected in 1969. g%g
IT) ICICI is a Nationalised Bank. :

(A) Only 1 is true (B) Only II is true

(C) BothI and II are true (D) Both I and II are false

1) 1969 &lppgr aumGlser pm HL_ewwnsss Qeweum g6 o srens).
IT) ICICI ereirugy qpp CoFwiowonssiiL 1. 6uniG)

(A) I @b M (B) II o @b &)

(C) I wpmyb 11 @uesa®id &M (D) I wopgyib 11 @uesr®rd seumy



H‘% -7- ' A

30. Stock Markets in India are regulated by

(A) RBI (B) Ministry of Corporate Affairs

(C) SBI (D) SEBI

@pHurallevr LIBIG FbengHeeT @@:ﬁ}@ﬁu@gg;mg 61%) ?

(A) @BHuw MFic ams) (B) Qup Hlmyeuer aleusmimiser QenLnéssLd

(C) avCBrLr’ Guiid U1 @pbSwm (D) @pSw L wHpib uleuisserat eumfliib
31. On which river Tehri dam was constructed ?

(A) Kosi (B) Krishna (C) Narmada (D) Bhagirathi

QBN oement 61H5 HPleT GmSCs SLL 1L (HeTeng ?

(A) Gzn&) (B) ®)mpaiyewtn (C) pivens (D) L8

32. Which country shares its shortest border with India ?
(A) Nepal (B) Bhutan (C) Afghanistan (D) China
GoISw Bl ereveaew @BSwn eibs pr Qe LuSMKg ClEaEDg ?

(A) Grumerd (B) wyr_rmeir HEE
(C) gyusmeflavgme (D) Zevrr D%
33. Where is the National Jute Board headquarter is located ?
(A) Kolkata (B) Mumbai (C) Chennai (D) Delhi
Cs8w gewred UGB er SEENLOWIHLD 6TmIG HEDLOHSGIGTENS) ?
(A) Ganvsgssr  (B) woLbenus (C) Gsstrener (D) Qr_sval)

34. Which of the following is true ?
Assertion — A : Tamil Nadu is located in Deccan Plateau.
Reason — R : During cretaceous period this part got separated and formed Gondwanaland.
(A) ‘A’ is correct/ ‘R’ is wrong (B) ‘R’ is correct/ ‘A’ is wrong
(C) ‘R’ is not related to ‘A’ (D) ‘A’ and ‘R’ are correct
Haramueteupmley FAwmes) 61evey ?
gpml : Guspu LfLh ereriu@h saésness L Lyuiled SLOpHBI®
DI GOLDBSHIGTETS
smgesTd : @)ULGS SO G fwew srwgGed 9M5g Clseip Cama aumet
Blewli@Buley o (meunest b LIGSWGLD.
(A) spmy FRwneng)/STI6HILD S6uDTTS] E5E
(B) sngewiih Fflwnen eundSiLb/sspa $apresig) [=le
(C) sngewih aflwnes alendsid e FoDBIDG
(D) sapmy opmitb Higewiid @)oesst(pb il



35. Match the following :

Hill Station State
1) Mussoorie 1) Himachal Pradesh
2) Shimla ii) Kerala
3) Munnar 1i1) West Bengal
4) Darjeeling iv) Uttarakhand
(A) i, ii, iii, iv (B) iv, iii, i, ii
(©) iv, i, i, iii (D) 1v, 1ii, 11, i
AL
LOGNGUGUITLAIL 16T LomblevLd
1) wpGesmrfl 1) @urésalIrCssib EERE
2) &bevr ii) Gagerrm i
3) epessrmyy i) Gup@ eumismerd )
4) LmigdleSms V) 2 g&gsmesor’
(A) 1, i, iil, iv (B) iv, iii, 1, ii
(C) iv, i, ii, iii (D) 1v, iii, ii, i
36. When white light enters a medium, which colour travels with highest speed ?
(A) Yellow - (B) Red (C) Violet (D) Blue
Glaueirener gefl gi san_sgBeyer Qasveyd Gurg), s Bt 8 CousgGev
ClaevayiLd
(A) w@pFer (B) Sauiy (C) sangm (D) Beob
37. The instrument used to detect the presence of electric charges in a body is
(A) Microscope (B) Voltmeter (C) Electroscope (D) Ammeter
Clun@er @efled 1Aehigiseaer @ @LiLes s Pu LUGTLESSUILGL Smed
(A) mewGewsira &) (B) Geumebr” b1 i
(C) plevevidasiam g (D) b’ i
38. V=IR

(i) The above formula was given by George Simon Ohm.
(11) In this Formula “V” stands for potential, ‘I’ stands for current and ‘R’ stands for resistance.

(A) Only (i) is correct (B) Only (ii) is correct
(C) Both (1) and (ii) are correct (D) Both (i) and (ii) are incorrect EE
V=IR ﬁ%

(1) Gpemplu FweTLIn() Qi aF6T @Lb eTeTLICUITE Blmieulii L_g).
(i) Guwpamplu swerum’iged V' earug Beararwsssmsuy ‘1’ eerug
WletGenrni’ L gensub , ‘R’ ereirLig) 1eigen_aviouid @mlé@Lb.

(A) (1) @b sM (B) (ii) oi” (b &

(C) (1) opaytb (ii) oM (D) (1) pmyb (i) sMwevev
39. Which nuclear fusion produces energy in the sun ?

(A) hydrogen to sodium (B) lithium to hydrogen

(C) hydrogen to helium (D) hydrogen to iron

IS Y eEs [ Qevenailarted @ fwafley PHped o Feun@ang 2
(A) ewan" geraflelmpg Comyguwid (B) 138550 mp81 ewami” ggyest
(C) and sgefleflmpg asalwid (D) ewant seeelimpg @)aibry
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40.

41.

42.

43.

44.

0.

Cryogenic propellants used in rockets are at

(A) very high temperature (B) high temperature

(C) room temperature (D) very low temperature

@ursQsL Bsefle LweL@SSOILGLD BDyrGur Cgefls Qués CLn@eser
(A) s P& CauiBlenevuiley @)Hs@Ld E5E

(B) @185s QeuLiuflencuiev (3)hdh@HLD Egﬁ

(C) »yep Geuliuplenevuiled @)B%@LD

(D) Bss Geopis CeuiuBlaeuils @)BEEGLd

The President of India can nominate

(A) 12 members of Lok Sabha (B) 2 members of Rajya Sabha
(C) 12 members of Rajya Sabha (D) 14 members of Rajya Sabha

GUWIHS SEQeuTTed BluidEs BTSN
(A) Ganssaudg 12 2 pinferisar  (B) gngw seoud@ 2 o pilileriser

(C) pngw sewL1sE 12 2 piinfeaniser (D) ongu Feouss 14 2 pylnieiser

Which house of the Parliament is known as Permanent House of the Parliament that never
gets fully dissolved ?

(A) The Lok Sabha (B) The Rajya Sabha

(C) The Ministerial Cabinet (D) The group of Ministers
[BIL_T@BLOGINSBIGH 6THS Sjea, B TEBLOGIDSBIGH [BIThET Sjenauns SPWLILIGEDS ?
(A) ssarenacy (B) onfleviisereneu

(C) yenipdFgemnal (D) yewidsiser &up -

What is the time limit to get the information from RTI Act, 2005 7 Ohe

(A) 20 days (B) 25 days (C) 30 days (D) 35 days

saae yPluyb 2 Menwd gL 1b 2005 &1 Ly S QumieugDHETET HiTeV QIILDLY

(A) 20 pmseir (B) 25 L _seir (C) 30 pn_sar (D) 35 pmi_ser

The electoral system in India has been adapted from the system followed in the

(A) United Kingdom (B) USSR (C) France (D) China

@BBw Gsiged wpep & WetupplL@d Gaiged (penpsament LSesrm )
gpmid ClEmeraniiLIl L g).

(A) @EBersHed ' (B) Genadlws peyuwimaied

(C) Wgnesradev (D) Fewnalilev
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45. Match the following :

1) Citizenship Act (i) 42" Amendment
2) The Preamble (it) 2004
3) Classical Language-Tamil (iii) 1955
4) The mini Constitution (iv) Jawaharlal Nehru
(A) (1), (i), (iid), (iv) (B) (iii), (iv), (@), (ii)
(C) (i), (iv), (ii), (i) (D) (iv), (iii), (i), (i)
Qs
1) eywyfeniod &’ 1b (1) 42 eug) YrPwevenioliyg 511G wssLD
2) wpsajenyg (ii) 2004 _
3) Qub@uomg)-si8p Gi) 1955 %§§
4) Gn IRl (iv) aeusicured Grep e
(A) (1), (i), (iid), (iv) (B) (i), (iv), (i), (ii)
(C) (i), (iv), (id), (i) (D) (v), (1ii), (ii), (i)
46. Which Act separated Burma from India ?
(A) Government of Indian Act, 1935 (B) 1833 Charter Act
(C) Rowlatt Act (D) Minto-Morley Act
eIbSSFFL L b Lionemey @) wraleSl g LIMsSs)
(A) @B&Sw ope " 1b 1935 (B) 1833 ulr wss’ 1 1b
(C) Glgerevl” &1 1 _1b (D) WG m-1omial) &1 _ib

47. Name the Nayak who inaugurated the kingdom of Ramnad.

(A) Muthu Krishnappa (B) Muthu Vaduganathar
(C) Chokkanatha Nayakkar (D) Vishwanatha
Qumpns FHpoms COsm_RiISeaags Brusst wrr o

(A) wss Fapayewtiir (B) wpsa au@smrsT
(C) Qenésmns mmussi (D) afayeupnsi

48. (1) The Mangulam inscription mentions the king Nedunchezhiya Pandian.
(ii) The Mangulam inscriptions were depicted in Tamil-Brahmi letters. E4E

(A) (1) only correct (B) (i) only correct EA
(C) Both (i), (ii) are wrong (D) Both (i), (ii) are correct
(i) nsgend seelar’ B unemgwer Q@ EsCFAweT LHY FonBnG).
(i) ormigend se6leur’ B HLolp-19gmih TIPS GISHenTer OlLInPlSsL Ll 1L_aoal.
(A) (i) @b oM (B) (ii) " @b &M
(C) (), (1) Quawr B> Houmy (D) (), (i1) @uesww®id &
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b
49. Which of the following statement is true ?

(1) In Sangam Age the Kingship was hereditary.

(i1) The King was called “Ko”.
(A) (i) only (B) (i) only
(C) Both (i) and (i1) (D) None of the above
Brpsetil_ gnpmisailch cTene 2 GRIGHLOWTGIG ?
(i) #mIsST0ESH TFTMenLD LITLDLICH TWITCHTS].

(il) oypsi “Car” e1as SyenipdbsriLil L mi.

(A) (i) o (pb (B) (i) ol (b

(©) (i) wpmyid (ii) @)uessr(BH)Lb (D) @eunpled e1kajb @)evencV
50. Match the following : .

a) St. David Fort (i) Calcutta EEE

b) St. George Fort (ii) Pondicherry E&g

¢) St. William Fort (iii) Chennai

d) St. Louis Fort (iv) Cuddalore

(A) (iv), (ii), (iii), (1) (B) (iv), (iii), (1), (i)

(C) (iv), (i), (1), (1) (D) (i), (iv), (@), (iii)

A GEETER:

a) yeflg Craill Gam’ emL_ () ssssT

b) yefls spmigh Gasment (i) wmevoreg G

¢) yefls aflevedlwib Casm e (iil) Glearenar
d) yells epruflevy Camemni_ (iv) &g

(A) (iv), (i), (i), (1) (B) (iv), (iii), (1), (ii)
(©) (iv), (iid), (id), (i) (D) (i), (iv), (@), (iii)

51. Find out which one is not in the Food Quality and Safety Control Agencies ?
(A) FSSAI (B) AGMARK (C) FICCI (D) FPO
Wesrau@meuaraunPleh 618 2 ewrey LLHMYLD SossL_HLILA®R BlniaieTb jeiev
(A) FSSAI (B) AGMARK (C) FICCI (D) FPO

52. Pernicious anaemia is a deficiency of Vitamin.

(A) Iron (B) Cyanocobalamin

(C) Folic acid (D) Vitamin K

Quietafluev @rss Conamasemw apLIBSSID 2 UTé6S5 GDLIT(H
(A) @QupLbL 55551 (B) swGsniGsmiimevrlasr
(C) 2Cunadls yblevid (D) 2.u9issg5 K

53. Anexample for decomposers are and E%&E
(A) Bacteria, Fungi (B) Bacteria, Lichens E
(C) Fungi, Lichens (D) Algae, Lichens
FenSLILIGTEn 0uH @55 61(hDSISSML_(HHET Lo mLD
(A) ursefunssd, Lesemssear  (B) undewnsse, eesClseser

(C) Yyeravaser, @evs0lsaiser (D) @yevsrés6r, evdblsaisen
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54. Identify the true statement with reference to noise pollution :

55.

56.

37

Statement — I : Noise is the unpleasant sound.

Statement — II : Reduces depression and stress.

(A) Statement I only true (B) Statement II only true

(C) Statement I and II are true . (D) Statement I and IT are wrong

e e @Pss Filwner nsGusens se_nfs.

aungSuno -1 : @eNevowpp @)evgdgevner gad).

aung@unb—11 : oar GFriiay () WEsS5®S FODEFDS.

(A) ounrg@wib 1 wor”_ Qb & (B) eund&Swib 11 or” @b M

(C) awngGwid 1 oppid 1l sflwnergs (D) eurd@uwib 1 wopgyih 11 SQUDTEEZ)

Match the following : | E¥E
Conservation Law Year %
1) Project Tiger . a) 1992
i) Project Elephant b) 1999
ii1) Sea Turtle Conservation Project ¢) 2020
iv) Indian Rhino Vision d) 1973
(A)i—-d ii—a iii—-b iv-c

(B)i-a ii-c¢ iii—d iv-b
(©)i-b ii—-d iii-¢ iv-a
(D) i-c¢ ii-b idii—a iv-d

Clunmpgs15 - .
Conservation Law Year
1) yyellser ungismiiy S 1_tb _ a) 1992
i) wrenerselr LGS S 1 tb b) 1999
1) SL_60 YeOLOSGT LITGSTLIL) S L _th c) 2020

V) @QB&w snew_mbmeniser urgsmiy S b d) 1973
(A) i-d ii—a iii-b iv—c
MB)i-a iji-¢ 1i—-d iv-b
(C)i-b ii-d idii-¢c iv—-a
D)i-c ii-b idii—a iv-d

The name of the new Citizen Safety Mobile app launched by Tamil Nadu Police recently is
(A) Kaavalan (B) Kaaval Uthavi  (C) TNPOL (D) TN POLICE

SLOLPBA(R) HTeUG) FIHDWTED (&L9.LOSSET UMGSTLILSSMS FLOLSHD Qg m_msiin 1
@5CGL CFwaluler Quwi 2

(A) smeucvest (B) smaueh 2. 30l  (C) geresrGuned (D) 1g.e16CLimeSev

In Tamil Nadu, where was underwater Archaeological site Museum established ? IS

(A) Tranqubar (B) Korkai (C) Musiri (D) Poompuhar
SpBT 196 a1 BSsiulleh Gsnevailcd gerb S@FEISTL AWSLD DeLpsasHL
L (herens ?

(A) sosmsibumg  (B) Qsmpeans (C) wp@m) (D) ybysmi
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58. FASTag at the Toll Gates uses which waves ?

(A) Infra Red Waves (B) Radio Frequency Waves

(C) Ultra Violet Waves (D) Micro Waves

FEIBF FTUY SN YNLDBFIGTOT SLITOVL. L_M5-6D 6T5F IeMeV HFI&HET

2 CWTRSSLILGFSTDET ?

(A) @15 Dol s (B) GupBuinr yemeveuilens

(C) ymw 2e1sm yeWWSHIT (D) miessr emev SHIT

59. Match the following : ; _—
Country Year of Independence .IIIE%

i) Sri Lanka a) 1971

ii) China b) 1948

iii) Bangladesh c) 1949

iv) Pakistan d) 1947
(A) a b c d
(B) b a c d
© b c d a
D) b c a d

QummS S

B1(® SSBSILD ClpD (/L LD

1) wfevmism a) 1971

i) Gewrrr b) 1948

iil) umisaTTCsay c) 1949

V) un&levser d) 1947
(A) a b c d
(B) b a c d
(©) b c d a
(D) b c a d

60. Who is the author of the book ‘Keezhadiyil Ketta Thalaattugal® ?

(A) S. Venkatesan (B) Erode Tamilanban

(C) Vela Ramamoorthy (D) Karthik Subramaniyan
‘Bipig ey CsL L gmevn (Rsen erep mredler & Mwir wrir ?

(A) &. QeumisGL g6t (B) #Gur(® sLblipetTLIGH

(C) Gouev gmioepis s (D) smig®s sl gioewfliicr

61. The Vacuum Flask was invented by

(A) Kelvin (B) Antoine Lavoisier

(C) James Dewar (D) Pascal EH#E
QaupPl_s @B encuenws seost(HLNg 5SSt =
(A) Gasevailes (B) a6l _miieir eoaumiiedluii

(C) Gegroarv Beuni (D) umevsev



62.

63.

64.
65.

66.
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While going for a ride in merry-go-round you experience an outward pull, this pull is due to
(A) Centripetal Force (B) Centrifugal Force

(C) Electrostatic Force (D) Magnetic Force

G Qo yag@ed sppid Clunupg, priser QeelGrré®u Heasuiev @)up
aflensenuws o ewii&pisen, @)IalasssTaT SMyanLb

(A) enwow Crrd@ aflans (B) ewow alevd@ allens

(C) Hlavav leraslwey aflans (D) smbs allens

Choose the correct pair : EIH5E

(1) Atmospheric pressure a. Newton =

(i1) Force b. Pascal
(iii) Mass c. Kilogram/metre®

(iv) Density d. Kilogram

(A) @) b (i) c (i) d (iv)a

(B) ()b (i) a (iii) d (iv) ¢

(C) () c (i)d(ii)a (iv) b

(D) ()d (i) c (i) b (iv)a

giwner @enewreniwd Csin6ls@BEsa LD,
() evellwedn e yupssb  a. By e

(i) aVens b. umevsed
(iii) Hevp ' c. KCevn&lgmib /LB 1P
(V) 9L i59 d. @Cevr@gmib

(A) ()b (i) c (i) d (iv)a

(B) ()b (i) a (i) d (iv)c

(C) () c (ii)d (iii)a (iv) b

(D) (i)d (i) c (iii) b (iv)a

Which unit is used to measure the intensity of sound ?

(A) Hertz (B) Light Year (C) Candela (D) Decibel
@aflufleir Qleflaurens) a1bs st yerai_LiLBRDS

(A) Gamicav - (B) gofl a0 (C) Caawrgevr (D) QL_@G)ied

Boiling point of water is 100°C. Its value is equal to

(A) 273.15K (B) 212°F (C) 100K (D) 200°F EE
Biilesr Glsngblenew 100°C. @)bo@ 19D @& FLotoneig)

(A) 273.15K (B) 212°F (C) 100K (D) 200°F

Which country will host FIFA 2022 World Cup ?

(A) America (B) Qatar (C) Russia (D) Brazil

61b% B oodeoLim 2022 o evsd Camliieuew pL_SsacTers ?
(A) <Cwhsanr  (B) agsmit (C) paywm (D) 19GrPev

A
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67. 1) NATO is established for providing mutual defence to member countries from an attack
by an external party.
IT1) Russia is a member of NATO.
which of the above statements are true ?
(A) Only I (B) Only II
(C) BothIand I (D) Both I and II are not true
1) NATO ereirig @ Qeueflgrinienfsn sné@selles @wHa 2-mii) prHSEESS
ugevLy Ungsmilnsns Blpieuin L g. '

II) paywmr NATO afleir 2 mliSesrgns 2 ereng). g =Ei
Cule Car@ssLiul L B 6155 Fpm FAwneig ?
(A) 1 i @b . (B) 11 1ot i
(C) I pmyb 11 (D) I wpmb 11 geupress)
68. Who is the first Indian to have won Golden Globe Award ?
(A) M.S. Subbulakshmi (B) Latha Mangeshkar
(C) S.P. Balasubramanyam (D) A.R. Rahman
Ganav_eir GGen) allpens QuDD (pSed @QBSwii wmi ?
(A) e1ib. e1o. HLUILjGVFYLE) (B) @wsr iomiGsavsmi
(C) erowv. 19. LmeaE I Nyoessilub (D) er. . gapLomesT
69. What is the expansion of UAV ?
(A) Unarmed Aerial Vehicle (B) Unmanned Aerial Vehicle
(C) Unique Armed Vehicle (D) Unmanned Attack Vehicle
UAV @eir aflfleundsid eresrer ?
(A) ety ib® erfliueh eunseitd (B) yesrinnevar(h arfiued eurgerLd
(C) weflé 2 ib(® eurseLd (D) yctriomessr(h) oL GUITSGTLD

70. International Yoga Day is celebrated on

(A) January 30 (B) May 1 (C) June 21 (D) November 19
2 s Qursn Hard 615 Hrafey Qsmew_m_ LGS na ?
(A) sgeweuril 30 (B) G 1 (C) ggoar 21 (D) mpasbui 19
| E5E

71. Which hormone is associated with our immune system ?
(A) Insulin (B) Thymosin (C) Thyroxine (D) Adrenalin
wLog) Crmiig enL_&nLiL] el _evdhgiL a1 Glsm_iLjeoi_w anmiCGLoreT 61g ?
(A) @evraadles (B) ensGrom&esr (C) ewgogngader (D) oy iilerelles



72.

3.

74.

75.
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Assertion : Mitochondria are called ‘Power house of a cell’.
Reason : They produce energy rich ATP molecules.
(A) Assertion correct, Reason wrong
(B) Assertion wrong, Reason correct %
(C) Assertion and Reason both are wrong Bles
(D) Assertion and Reason both are correct
Fapm) : L CLrasram Munsser  Clecedler pme 2 maEer eTan)
2 LPS&LILIHE ST G
SIgewiLh : eneu lenswippesls Glupp ATP epevdsnpisemen o (Hairs @S ng).
(A) spry &fl, snoewTd Saimn (B) &pmy saumy, smgesstib &
(C) wpm, sngewd @uas®d gaup (D) smpmy, smoewd @Quew@ibd &i

Match the following :

a) Vitamin C 1) high fat

b) Avocado 2) iron

¢) Seethaphal 3) fat soluble pigment
d) Carotenoids 4) Guava

(A) 2, 1,3, 4 (B) 3,4,2,1 (€) 1,4,3,2 D) 4,1,2,3
ClLImBS 5%

a) o uflisasg C 1) @85 gera; Clampliy

b) 9euGsCrLir 2) @mLbLyF 555

c) &sm uiplb 3) GarupLiie sewgwdsaiguwr Bnih

d) sCGom iecenmii@ser 4) Casmium

(A) 2,1,3,4 (B) 3,4,2, 1 (€) 1,4,3,2 D) 4,1,2,3

A disease which weakens the bones and makes it brittle is

(A) Paralysis (B) Osteoporosis (C) Fatigue (D) Nerve Impulse
IIDLSET uaNp&S ClFiIg eupap o L widdmigw Baadyg Gsmew(
OFevayih Crmis

(A) ussaunstd (B) gpovi’ 19 CunGunGun&lev

(C) semanrtiy (D) mobys SI6wIL_6h mgﬁ

Select the correct option :

Statement — I : When vegetables are cooked in water Vitamin — C is lost.

Statement — I1 : Vitamin — C is water soluble in nature.

(A) Statement I and II are true (B) Statement I and II are false

(C) Statement I — true, II — false (D) Statement I — false, II — true

Fhilwnmesr alenL_enwg CzinGls®).

gpmy — 1 : smisplaenen e Fend@d Cung), 2 ulisssg — C @&p&&uu@@ﬁ)@.
Fgapmi— 11 : 2 issgg — C, Bled sengub seteno Clsmese_gy.

(A) wpmy | opmyd 11 &M (B) empmy | opmyen 11 geumy

(C) gmpmy | &M, 11 3eumy (D) &pmy 1 seumy, sapmy 11 &M



1~k -17-

e
76. James Chadwick discovered the particle is
(A) Electron (B) Proton (C) Neutron (D) Positron
Gagibew s adls sa@T(BHILIY S5 HIS6T
(A) et gnesr  (B) yGuminer  (C) Ay onesr (D) wmedgmeir
77. Statement : The reaction that takes place in rusting of Iron is oxidation. (5=
Reason : Because iron is converted to its oxide. [ele
(A) both Statemént and Reason are correct (B) both Statement and Reason are incorrect
(C) only Statement is correct (D) only Reason is correct
Fpmi: @by QUL ser s Ssadleb pevL_ Gl aflaner ysarilgGanpmLb

%@Lﬂ.
sngeiLD : glarafley @)BLOL S YSaFBSeTTsS LDTDDLILIBILD.

(A) gopmy LopmiLd Smgewitb @ues b &Ml (B) aapmi opmid srgesid @)esa()b Seumi
(C) sapmy ot” Rib &ifl (D) sngewiib ol Gib Fifl

78. Choose the correct acid and its use.
(A) nitric acid — digestion of food (B) sulphuric acid — bafhing soap
(C) vinegar — preserve food materials (D) benzoic acid — detergents
gflwmes oyblevb oPmith 2G6s Lwssiseamer Cain0lE®
(A) evpLMé oybevtb — 2 ewreyiClLimpensafer GlFfwmesib
(B) gav9y s sblevid — @afluied Cemriiy
(C) adesllai — o_ewrayls Qummmer Gl GGLTSTOD @Q)(HoHS

(D) Qustismuils oyblevib — Fevemeu CFmiiLy

79. Which gas is responsible mainly for ‘Taj Mahal’ turning yellow ?

(A) sulphur di oxide (B) ammonia (C) chlorine (D) hydrogen
STGLOADIG), LDEHEFT BDLOTS LNNIISDHE 615G UMy pSEW STIeRTOTSDS ?
(A) sevr oL Y FenF[ (B) <@nbComesilwm
4 ; E5E
(C) &Canrmileir (D) enami” gggeit bt
80. The most commonly used cooking gas contains LPG which means ?
(A) Low Pressure Gas (B) Liquified Petroleum Gas
(C) Leak Proof Gas (D) Low Phosphorus Gas

Qungieuns P& yeraled LWETLIGILD Fanowed aumuyeailey o erar LPG erairLig
(A) GODES (PSS Gy (B) @uauonssiiu L Qul GoreSlw eumyy
(C) s&euenL_wng eumyy (D) @ephs LITevLIgen aumy|
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82.

830
84.
85.

86.

87.

88.

89.

90.
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| PART — B : Psychology |

Choose the appropriate word for the following :
“any building of a past age, regarded as a historically important place”.
(A) Exhibition (B) Laboratory (C) Monument (D) Sanctuary

Choose the correct passive form.

The manager appointed many office assistants.

(A) The manager were appointed many office assistants
(B) Many office assistants appointed the manager

(C) Many office assistants were appointed by the manager
(D) The manager was appointed by office assistants

&
Fill in the Blank. . Ol
If your friend always thinks the best will happen, she is
(A) Humorous (B) Optimistic (C) Creative (D) Frank
Choose the correct meaning of the idiom “a couch potato™.
(A) A clever person (B) An important person
(C) Anidle person (D) An ideal person
Choose the suitable question tag.
Nobody called, ?
(A) do they (B) didn’t they (C) did they (D) don’t they
Complete the following :
If I had had money,
(A) I would invest in the business (B) I will have deposited in the bank
(C) I will buy a car (D) 1 would have donated
Match the following :
a) Beauty I) Adverb
b) Pretty IT) Noun
¢) Neatly III) Conjunction
d) Unless IV) Adjective
(A)IVINna (B)II IV I 111 @urIriivim @11V In
Choose the option which has logical relevance.

I. ‘Fine’ means healthy
‘Fine’ means the amount paid for punishment.
II. In the above sentences, the word ‘Fine’ is the example for ‘Homophone’.

(A) 1is false Il is true (B) 1 and II are correct

(C) 1is correct I is incorrect (D) T and II are false —
Fill in the blank. i

It is our responsibility Sparrows. '

(A) to save (B) saving (C) to saving (D) for saving

Fill in the blank with the suitable conjunction.
You cannot go abroad you get the visa.

(A) still (B) until (C) if (D) otherwise
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92.

93.

94,
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96.

97,

98.
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mafenar gevevrg QFTHCIDIL_oF HevL 1%
(A) jeuamenis B(bHsSF GCleFdismer (B) shes aseet GAIDISHLI LI.565 eUSS T

(C) yeuatt B ppSesmes (D) weirel&@L1 LSS MBI au(balSS i
‘GOGE’, Fvsa’ - @&Qsncaler @adsand @pPlious Caibols®.

(A) QEG&S0sTL 156 (B) @i d Glamailser

(C) werys Csmrensser (D) aleweng Gl mensser

@pissTevdams o awTiggib C\sTL_mis SeL pls EE

(A) Cpdaauled LOlESallEsT LIT UMpHEesT ;sgg

(B) Qpevanevudley SLOLPES@INEHT LIGUIT QUTLHEUTTEET (Ee:

(C) @paencvuiled HLApEEaIEHT LIGT QUTHEDTiSET

(D) Gpeenevuileh HLlpssallehi LGV uMPSEDTTEHET

Quebispid aBulsyb Bleip o udiLpest 5511 LOGLb- allen &Gspp allew jemLods
(A) Queviayd alPullentb Hesip o ullipeit sreway LiGLd ?

(B) @Queispib alBuispiib Bleirp Clouipesr e1emau LAGLD 2

(O Querispb aNGulepiid Hlestp o udlipsst erenal LAST 2

(D) Quenisgd alDulleb e o uflitfesr ereney LOELD ?
peTlufsed eretenib GlFmevenclt L9MSS e1(pSsS Sl g

(A) perg + whlsed B) perh] + oo

(C) meimm + iz (D) ety + wplsed

ib + 2 097 eretismets GFigs e1(pss Hav_sGLb Glemed

(A) swsdi  (B) sbapudi ©€) sbodi (D) sepuli

‘@etuflency snGer upg eniigib LgmLgG’ -@)sieuguiled ‘LgnLgGLy’ GIGTLISE
Clummer wig ?

(A) 8rpmewr QuimesGon (B) Groevmesr GlimmmGer

(O) QueGroeumer QlummGar (D) QunmmGar

‘ueips @il eraicuamss ClEmLir 9
spm 1 : aflenenQudss Qem it
o 2 ¢ Quwllgsss Qs

(A) snpoy 1o, sappy 2 seumy (B) aapmy 2 &M, spmi 1 seum
(C) apmy 1,2 &l (D) yewastdsib Heumi
eraupid 1@ idClempaemert: CQLImmsS)%

1) eraflgy - 1) yoeuevr

2) w&6L o= i) oyl

3) opput - i) gppe

4) @ueuevir — iv) 2 pelert
(A) i iv i i

(B) iv iii i i E5E

(C) i i iv i Ol
(D) i iv i i

‘SLaFEL (B -e16tp SLOPFCIFTOSIGSTET, %J’i‘@@é OFncvencvg Csiis

(A) Visa (B) Migration (C) Immigration (D) Passport
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101. Results of class X of a school are given below. Study the table and answer the questions.

102.

g T : (180

Year 1991 | 1992 | 1993 (1994 | 1995 | 1996
Appeared 198 206 230 [212 [216 |180 EIEE]
Passed 180 197 1210 |[203 (194 |178 -

In which year was the pass out percentage minimum ?
(A) 1991 (B) 1992 (C) 1993 (D) 1995

@@ LeeluileT Lgsmd aigLiL) wyayser 8y Qsr@asliur Herere.
QL L euenemrenuwils LS5 Caerailde LSawealssaLb.

246VT(D) 1991 | 1992 | 1993 | 1994 [ 1995 | 1996
Caeiermi 198 | 206 | 230 [ 212 | 216 | 180

Cais® Qumpmr | 180 | 197 | 210 | 203 | 194 | 178

616G (R CoidFd aNBsb Fa@paurs o drengl ?

(A) 1991 (B) 1992 (C) 1993 (D) 1995
Calculate the speed of the car.
360 | B60)
300 + e
E ol o
-} (180
& 180 4
g i (120)
ol @
0 1 2 3 4 5 5

Time in Hours

(A) 40 km/hour (B) 50 km/hour (C) 60 km/hour (D) Cannot be determined

snMeir Gousd ereitesr ? E¢E
Fol (3600 &
Tl ot =

. (240)

| (120
4 1 (s0)

0 1 i 5 &

G e
(A) 40 &Cevr 161" 1_ii/1D6wo] (B) 50 @Gevm 1L 1_ri/1pews]
(C) 60 @Cevr 5" 1_r1/1oewef] (D) Siwnefléspiy gy
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Answer the following 2 (103-104) questions based on the bar graph.

The given bar graph shows the population of three cities A, B and C in the years 2010, 2015 and 2020.
QETRESLILIL L UL el euangliLiL_senst Lmiggl, Sipaimeb 2 (103-104) Cserallsend s
afleml 6T(LOSIS.

Qar@Rss LIl Berar Ll e erengiL_g&le 2010,2015 opmyb 2020 2,555 @S mesT

A’

103.

104.

B, C epsiigy papmsefler wéser Ggrans 6srpssiul Bererg. _—

[=::

35 36

30 . - 30

18

ABC wéasearblgrens (el gnsaied)
ABC population (in lakhs)

NNk

2010 2015 2020

IRN=L377/E

Which of the following cities registered the greatest % variation in the population from
2010 t0 2020 ?

(A) A (B) B

© C (D) Both Aand B

2010 St 2020 cueny 6155 BHISH 6 LE&6T CFTans 5% s56I5Ld Caumum’ g6
2 6TNG). -

(A) A (B) B

(© C (D) A wopmiib B

In which year is the population of city B exceeding that of city A by 20% ?

(A) 2010 (B) 2015 _—
(C) 2020 (D) Both 2015 and 2020 E%i

15 yewnigad B parsBer waser Clsnma, A paisBe waser Clgrasamw ail,
20% 2@ sLonE 2 _6iteng) ?

(A) 2010 (B) 2015

(C) 2020 (D) 2015 wpmb 2020 @oessr(hLd



Answer the following 3'(105-107) questions.

In a school, there were five teachers. P and Q were teaching Sanskrit and Maths. R and Q were
teaching Maths and History. S and P were teaching Hindi and Sanskrit. T and Q were teaching
Geography and Spanish. ]

Bpseir_ 3 (105-107) allennssepss alent_weldsaib. [Gis

ueireflufled 5 G flwiiser 2 sirereii. P opmih Q o @Mwiser sLoev@ @5sLd Lopmith Sewflsid
spLs&prisear. R wpmin Q yPfwiser sefigh womib eugewnmy spHL9éSpriser.
S wppib P y@fwiser adpS wpmh sweavns spLE@priser. T whmib Q
< Siwiser yealuiwe wpmib evCueley sHLISEpmiser.

105. Who among the following teacher was teaching less than 2 subjects ?

(A) P (B) R

< S (D) There is no such teacher
616% FMNUASET 2 LML KISEhsE@ GDauns eTHSEDTiser. |

(A) P (B) R

© S (D) e85 Y@Mwu@md @ebeanav

106. Which of the following pair was teaching both Maths and History ?

(A) QandR (B) Qand S

(C) Pand Q (D) None of these

b5 Q)b A& Mwiser sexfigb wpmih eugewnm) LIML_Riser SHLISHDrisen 2
(A) Q oppib R (B) Q wppuib S

(C) P roppyb Q (D) @86 sigyayb @)evenev

107. P and Q were teaching which subjects ?
(A) Sanskrit and Maths
(B) History and Hindi E’%%
(C) Geography and History '
(D) Spanish and Sanskrit
P wopmib Q 6168 Ln_Sens spLISSDmiEeT 9
(A) &Lev&BmSLD LoPMILD FH6whSLD
(B) ausewnpy oppib eEH
(©) yaufwev opmyib eugevmmy
(D) ewGuasflay wpmib Fwev&HsLd
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b

three questions (108-110).

Ok0]
A=Food Gl
F A B = Conveyance
15% 25% _ -
C = Clothing

D = Miscellaneous
E = Saving
F = House Rent

Refer to the Pie diagram which depicts monthly budget of a family and answer the following

GOULbLISSE 015 aure) CFewas DI 1L _Gass ST (PLb @LIUILIL SeNSLI LITTSES@LD.

auengliuL_gens umisgl Lertaimid apeiiy Cserallsers@d (108-110) alenL. 505s.
A= 2 awiey

B = Gunsé@eugssi

C=so e

D = @sr Glsewaser
E = Gabliy

F = a?” Qeun_ems

108. If total monthly income of the family is Rs. 3,080/- how much amount is spent on conveyance

per month ?

(A) Rs. 400 (B) Rs. 360 (C) Rs. 370 (D) Rs. 325 %ﬁ
GOLbusH e Glonss wng auonerd ep. 3,080 erafled, @b WIFSDDG '
CunéGansgée eaiaeay Cgrams CFawall_ LGS DS ?

(A) em. 400 (B) em. 360 (C) em. 370 (D) em. 325
109. How much rent is paid by the family per month ?

(A) Rs. 550 (B) Rs. 462 (C) Rs. 430 (D) Rs. 426

R LISSH DG GO b ereueuarey afl (B eunL s 6ClFessHSnag ?

(A) en. 550 (B) em. 462 (C) em. 430 (D) em. 426

110. How much amount is spent on clothing per month ?
(A) Rs. 530 (B) Rs. 545 (C) Rs. 580 (D) Rs. 554

R LISSHDG eL_ds15 erecuena Cgnes Glewalll i LGSDG ?

(A) 5. 530 (B) e5. 545 (C) em. 580 (D) em. 554



111.

112,

113.

114.

115.

24- A

For the following question; various forms of a letter series are given with one term missing
as shown by (?). Choose the missing term out of the given alternatives.

HUA GTZ FSY ERX ?

(A) DWQ (B) DQW (C) WDQ (D) WQD

Sereuptd aflernailed, LsbGoumy e1(pdgl CBMGLIL ST 2 dene. @Bed @l L1
srpdgissemar LlsraisLd allen_sefledmig Csing e1(hése b o

HUA GTZ FSY ERX? lﬁ%

(A) DWQ (B) DQW (C) WDQ (D) WQD

R is the brother of'A. S is the sister of P. A is the son of S. How is R related to S ?

(A) Son (B) Brother (C) Uncle (D) Father

R erastieui A aflsit sGsnggi. S erevrieui P ullelr #Gsnsh. A srestioui S 61 Losait.
R p@ib S m@Lb ereitan 2 pey woem ?

(A) Loseir (B) #Caxngor

(C) tomoair (D) shes

A watch reads 4.30 of the minute hand points East, in what direction will the hour hand points ?
(A) North (B) North-West (C) South-East (D) North-East

R 5 S1&MISGI6 wesdl 4.30 s EEDG!, HILOL wer Hwss Crrs&umisey,
oesflperr e1bs Geanaamw Crns& @)wmé@Lb

(A) ouL_& (B) au_Gop

(C) Clsar®ps @ (D) e BpéG

If the code for ‘STABLE’is 1 23 4 5 6 and code for ‘LABOUR’ is 53 4 7 8 9, then what
will be the code for ‘BOTTLE’ ?

[E5E
(A) 472256 (B)472556 (C) 472265 (D) 475526 %
&lov @O ® 9y Cvem_uied ‘STABLE ereiniigeir @plui® 123456 gysayb, ‘LABOUR’
erairugest GPi® 534789 ysaub @ @inden, ‘BOTTLE’ ersiiuger @plui® ereirewr 2
(A) 472256 (B)472556 (C) 472265 (D) 475526

Raja moves from his house and walks 10 feet towards east, turns right and walks 3 feet.
Again he turns right and walks 14 feet. How far is he from his house ?

(A) 4 feet (B) 5 feet (C) 24 feet (D) 42 feet

giggn e of9ellppg Sips@ Crrss 10 wng pLpg 96 eueugiymd Dbl
3 g pLSEDAGH. LopILIg ujLD HeUEHT euevsILDLD FHLbLT 14 iy BB DreT. yeus
aili" 19 GOlmbG) 6TRIRIGTRY FITLDITS 2 GTGTTG ?

(A) 4919 B) 5 oy (©) 24 99 (D) 42 9g



116.

117.

118.

119.

Match the following :
i) Co-efficient of range 1)4:3
ii) Co-efficient of variation 2) 32
iii) 32 : 24 3) —E-x]OO%
; » L-S
iv) Ratio of 3 m to 200 cm 4) ——
L+S
(A) 4,1,2,3 (B) 2,3,4,1 (C) 4,3,1,2 (D) 1,4,3,2
CLinwégis. | E5E
i) afFasGlap )443 Gl
i) wamum’ Gé6lswp 2)3:2
iii) 32 : 24 3) %xwo%
iv) 3 18 &b 200 Q#Ls G@Lb 2 6itar all@sLd 4) II:—_:—
+
(A) 4,1,2,3 (B) 2,3,4, 1 (C) 4,3,1,2 (D) 1,4,3,2
Construct algebraic equations for the following verbal statement.

Ravi’s father’s age is 5 years more than 4 times of Ravi’s age. His father’s age is 33.

(A) 4x-5=33 (B) 5x +4=33 (C) 4x+5=33 (D) 5x—-4=33

esreupd eumiiGomfls smpmid@ ClnbesLoness @Qupsenfls FLOGTLTE 2 (56uTsHE%.
padluflel gjLiLimalle euwig gaNules auGes 4 Lol BIGL_6ST S @28 dnl L SlanL_LILIg] 4 LD.
gaflufesr jimadler euwig 33 2y @Lb.

(A) 4x-5=133 (B) 5x +4 =33 (C) 4x+5=33 (D) 5x—4=33

The triangle with perimeter 12 cm can be
() An equilateral triangle
(ii) An isosceles triangle
(A) Only (i) is true (B) Only (i1) is true
(C) (i) and (ii) are true (D) (i) and (i1) are not true
12 Q&.18 spperayerer (psGsmentrIsar LN6T6UHLOMNDI ELDUIGVTLD.
() e@w #0168 Lp&GHTERILOTS Y eLDOWIGVTLD. EEE
(i) @0 @QuFwuss LPECHTETLOIS e LOWIGTLD. ﬁ
(A) (i) o @b i (B) (ii) ol (b &)
(©) (i) opmueb (ii) &M (D) (i) opmputh (i) seumy
The side of a square is 10 cm. If its side is tripled, then by how many times will its perimeter
increase ?
(A) 2 times (B) 4 times (C) 6 times (D) 3 times
R #5105 e LSS 10 CF. 15 Fevyent_w LIGSLD epediny L misTEb Cung,
FDDTR| THSENGHT LOL_BIHTSH YFHAH@GHLD ?

(A) 2 wr_mi (B) 4 wmis (C) 6 i (D) 3 wrmy



120.

121.

122.

(A) DK

96

What is the probability of drawing a king or a queen from a deck of 52 cards ?
(A) 2/13 (B) 3/13 (C) 1/13 (D) 8/44
52 & (pser Canes g G0 s 196058 @Qurer eews) @)urent
CaipolsBLiugnasren (spsse, eTerer ?
(A) 2/13 (B) 3/13 (C), 1113 (D) 8/44
The following question consists of two sets of figures. Figure A, B, C, D constitute the
problem set, figure 1, 2, 3, 4 constitute the answer set. There is relationship between A and B.
Establish a relationship between C and D by selecting suitable figure from the answer set.
| e—~ /— e
< > ? \ _/ —>
~r_—~ | ~—> '\ R
A B C D 1 2 3 4 msE
(A) 1 ®B) 2 (©) 3 D) 4 _ E‘Eﬁ
LSeiraummib Gaeradluileh (@)ressi(h) aflFLomes euengLIL_KI%S6T 2_6iTenasT. auangLIL_Biger A, B,
C, D eratruer Caerailé@mlu u_mser. euengri_miser 1,2, 3,4 eiarer L@aid@slu
uL mser A wpmid B aflpg @)oo Cu qu Gsniyy o derg). Cam@asiiin
Clsr LIS BEs Cunmwssiore LB emew Cain6ls®sg C wpmib D aflsr @ent Gus
o_airar GlaL_fienLs BlmjeueyLb.
7 | s /_ L
: ORI
R~ | ~~— I\ R 7
A B C D 1 2 3 4
(A) 1 (B) 2 ©3 (D) 4
Which letter will be placed at the question mark (?) to complete the pattern ?
(A) DK (B) DW (C) DL (D) DE
Gaerals@puil L QLB abs cupssibsmen wausstew Qg LLsms Hana)
OFuinu (Lpiguyib E4E
fizfoy

(B) DW (C) DL (D) DE



s

123.

D A

According to the given diagram which one of the following statements is true ?

/[

\ ——> Philosophers
Historians

(A) All historians are magicians

(B) Some magicians are philosophers as well as historians HEE
(C) All historians are either philosophers or magicians !
(D) Some historians are philosophers ’

Magicians

QSTRSSLILIL L. auenTLIL $FGT pLpevLd SLpEe(BGTaT 6ThS YBISens 2 Giaenin ?

/

\ ——> sdsIeuaun)
eugaapmTF v

(A) erébeur eugemdpIRRw@HLd ESTauT® et

WS

© (B) o wiFreun@ser $550UTSWTEALD, UFETDDTRMNUITEALD 2 GTCITesIT

124.

125.

(C) erebeur eugevndpr@MiLd ey $SgeueuT@wnsGeaur <yevevg) LosSTeuTd wnsGeur
2_GiTerestit
(D) &ev augevmpprffwisen $S550ueuns ool

If A is to the South of B and C is to the East of B, in which direction is A with respect to C ?
(A) North-East (B) North-West (C) South-East (D) South-West

A er6itLig) B 4@ Qgpansayb, C eterug B 4@ Sipdsrsab @) wpsme, C @
Clunmgsaieng A e1s Hensulled 2 drens)

(A) a1_&ips@ (B) aur_Gop (C) Oszeir Hpss (D) QsarGone

Choose the Venn diagram that depicts the correct relationship among the three groups.

Dogs, Pets, Cats
O O]
(A) @ (B) o © (D) . 58
O O

apeim GpssallenCu sllwner 2 peey AS5MEGD Glouer auamgLL Sasd
G605 (hdsayLb.
Biiser, GlasveiSgnenflae, Lyenamsmser

(A) (B) @) o O (D)
O O



1. ~E -28-
Tk
126. Find the number of triangles in the figure below.

A

(A) 10 (B) 12 (€) 13 D) 14

B1psngb LIL B 1SS (LpdCHMeIBISET 2 GiTeTes.

AR

(A) 10 (B) 12 (©) 13 (D) 14

127. Which of the diagram represent the statements ?
— Some musicians are teachers
— Some teachers are players, but

— No musician is a player.

@ @ ®| D ©O0 o

tiesaupLd UL SH6D 615 G?a;n@a;&uur_@mm QIS GNIEI% D GIT @gﬂa;@g)gj ?
— Blov @enFwenLoLILTeriser & Muiiser
- 8ov S Mwiser allenemwum”® afgiger, 2,66y,

— 6% (QenFwenioliLimanisepd aflaverwiri (B afpisei @)evaney

@ &) ® (Dl ©lO0 o

128. Check the odd one out.

1, 8, 65, 64

(A) 1 (B) 8 (C) 65 (D) 64
saflE3)\BEGLD erevTenaT TI(HSS CT(LHSIS. EEE

1, 8,65, 64 O}

(A) 1 (B) 8 (C) 65 (D) 64

129. Ramu ranks seventh from the top and twenty sixth from the bottom of a class. How many
students are there in a class ?

(A) 34 (B) 32 (©) 31 (D) 33

R GG @ Ll g welSled grup CuoeSlmig aipreug @)L Samsub SLAwHS!
QBLUSE Ywraug QL Sensujd GClLupyerearTi. U@L CIES6T LOTETETSH6T
o_GITeraui.

(A) 34 (B) 32 (C) 31 (D) 33



E% -29-

130. Find the missing character from the given alternatives.
16 12 21 9 10 ?
(A) 21 (B) 12 (C) 32 (D) 22

esrau@pid eratasaflcy Caeradls@Gmuil L 616w 618 6Tedm Hevs_Plwajib ?

16 12 2] 9 10 ?
EEE
Y Y Y E,% :
14 15 - 16

(A) 21 (B) 12 (C) 32 (D) 22
131. Find the odd word.
(A) Arrow (B) Sword (C) Knife (D) Axe
SNSB (5&GLD unigensemuid HerBLig
(A) by (B) eumeir (C) 559 (D) Gasmm
132. Arrange the words in meaningful sequence.
1. Weaving 2. Cotton 3. Cloth 4. Thread
(A) 2,4,1,3 (B) 2,4,3,1 (©) 4,2,1,3 (D) 3,1,4,2
QUMTSMSHT TSSLpeen auflensuiley oj(hFHa b
1. Glpsay 2. LSS 3. ayewfl 4. myev
(A) 2,4,1,3 (B) 2,4,3,1 (©)4,2,1,3 (D) 3,1,4,2

133. There are five different houses A to E, in a row, A is to the right of B and E is to the left of
C and right of A, B is to the right of D. Which of the house is in the middle ?
(A) A (B) B ©C (D) D
A wpsev E aueng g auflenguiled goig alpser o eerer. A ereirLig) B 61 euew@epiib, E
erairiigy C a1 @)1_Sayiid, A alleir aua@aib 2 areng). B erairiigy D i1 arevGleb o cirang).
6165 aI® B@R@N 2 6reng) ? EEE
(A) A (B) B ©C (D) D ’Iﬁ%

134. In a class of 45 students, a boy is ranked 20" when two boys joined, his rank dropped by
one. What is his new rank from the end ?
(A) 25" (B) 26" (C) 27 (D) 28"
45 onewsteuiaeir Lig @b eI eus Pmyeusst 20aug Cumid ClLippyeienimetr. (@) oevs(h
Fyeuiser CaiphsGLING eugs 7 uflens ein GenhaieTeng. smi_Fulle @) mhs!
euisl LS w speuflens ereiiesr ?
(A) 25% (B) 26" (cyzm (D) 28"



135

136

137

138

139

140

e 30- : A

. Among 5 weight lifters P, Q, R, S and T, Q lifts more weight than P, but lifts less weight than
T. Two of them can lift weight less than P, S does not lift minimum amount of weight. Who
among them lifts the maximum weight ?

AT (B) R ©Q (D) S

S ueangns@ueuisaisd (P, Q,R, S wpmib T) Q wyeui P g el 495 e1eni_eows
FN1EGSpr. yerrev, T @ el @Gepainer e _w SI&SGS DT, euisefey
Q)Bouit P go o9l Goopps eranL_amw H158 (plguib. S G@DESULF cTenl_aoil
sisseilveney. Qauiselley, wit YPHULF eieL_eow FNSGSDpi ?

(AT B)R ©) Q D) S %‘i
. If 80 is added to 80% of a number gives the same number. What is that number ? e
(A) 500 (B) 400 (C) 800 (D) 600
@i crevsrawstlair 80% o2.1_a1 80 @08 Fnl” (UDCLING 0O 6160 BewL_SHWS). SIS GTe0T 6T65Tew 2
(A) 500 (B) 400 (C) 800 (D) 600
. The next term in the sequence
15,17, 20,22, 25,...1%
(A) 28 (B) 29 {C) 27 (D) 26
15,17, 20,22, 25,... etetip Glsm_fer B85 2 myiny
(A) 28 (B) 29 (C) 27 (D) 26

. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per annum is ¥ 750,
then the sum is

(A) X 3,650 (B) ¥ 3,750 (C) X 3,450 (D) X 37,750
GLooGaicd @@ GBI L CgnenasE 10% a1y 9558 2 yav@s6r SL055)
R 71502 saflai’ ywrs CeaysBeanmed st s Clgrens S (&Lb.

(A) 3,650 (B) ¥ 3,750 (C) X 3,450 (D) X 37,750

. 45 planes were produced in 5 days by a company. How many planes will be produced in 18 days ?
(A) 125 (B) 324 (©) 162 (D) 115
R VTG 2 PLSH ClFiuyid Flnyeuearih 45 alwnergisemer 5 pr_seflled 2 HLGS)
OleiSmg erafled, yBBeusnd 18 prlselled o pLSH Gewiub eomermisest
GTGUTGUT IS en % GTGHTENT 2
(A) 125 (B) 324 (C) 162 (D) 115
EISE '

. 1. Every rational number is a real numbers. =

II. Every real number is an irrational number.
(A) I is correct (B) II is correct

(C) both I and II are correct (D) both I and 11 are incorrect
L. geCleunm alSswpm eremeyih GlouiCwsss.

II. geibleunmy CuuiQwengsb @SS wLpmT cT6wT.

(A) 1 erewrigy i (B) 11 erevriugy &M

(C) I wpmyib 11 @)pewsr(Hid Fril (D) 1 wopmub 11 @)oessr®id Saumy



SUB-INSPECTOR OF POLICE-2022

OPEN

WRITTEN EXAMINATION - FINAL ANSWER KEY

QUESTION BOOKLET SERIES - A

Q. No. | ANSWER | Q. No. | ANSWER | Q. No. | ANSWER
1 D 26 D 51 C
2 B/C 27 C 52 B
3 A 28 A 53 |A/B/C
4 A 29 A 54 A
5 D 30 D 55 A
6 A 31 D 56 B
7 C 32 C 57 D
8 C 33 A 58 B
9 C 34 C/D 59 D
10 B 35 C 60 B
11 A 36 B 61 C
12 A 37 C 62 B
13 B 38 A 63 B
14 D 39 C 64 D
15 A 40 D 65 B
16 D 41 C 66 B
17 C 42 B 67 A
18 C 43 C 68 D
19 A 44 A 69 B
20 A 45 C 70 C
21 A 46 A 71 B
22 C 47 A 72 D
23 A 48 D 73 D
24 D 49 C 74 B
25 C 50 B 75 A




Q. No. | ANSWER | Q. No. | ANSWER | Q. No. | ANSWER
76 C 101 D 126 B
77 A 102 C 127 D
78 C 103 A 128 A/C
79 A 104 C 129 B
80 B 105 D 130 D
81 C 106 A 131 A
82 C 107 A 132 A
83 B 108 C 133 A
84 C 109 B 134 C
85 C 110 D 135 A
86 D 111 B 136 B
87 B 112 A 137 C
88 C 113 D 138 B
89 A 114 A 139 C
90 B 115 B 140 A
91 C 116 C
92 B 117 C
93 A 118 C
94 A 119 D
95 B 120 A
96 B 121 D
97 B 122 B
98 B 123 D
99 C 124 D
100 D 125 B
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